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Increasing battery efficiency is one of essential tasks
in the age of wearable devices.
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Table 2: Segway PT Specifications (cont.)

Model Specification i2 SE x2 SE

Dimensions

Machine Weight Without Batteries 82 Ibs (37 kg) l 96 Ibs (44 kg)

Battery Weight See Table 11 on page 86.

Ground Clearance (Unloaded) 34in(85cm) 44in(11.2cm)

Machine Length and Width 25.5x25in (65 x 63 cm) 26.5x 33 in (67 x 84 cm)

Handlebar Height from Mat 38-43in(97-109 cm) 38-43in(97-109cm)

Handlebar Height from Ground (Unloaded) |[46-51in (117 -130 cm) 47-52in(119-132cm)

Powerbase Height (Unloaded) 8in (20 cm) 9in(22.9cm)

Tire Diameter 19in (48.3¢cm) 21lin(53.3cm)

Tire Type Standard All-terrain

InfoKey Controller

Battery | CR2430 replacement batteries are available at electronics stores.
NOTE:

* See "Weight Limits for Riders and Cargo" (p. 14) for more information on weight limits.
** See "Maximizing Range" (p. 16) for more information on maximizing the distance you can travel on your Segway PT, and factors that
can increase or reduce your range.

Young's modulus (E) 2.0-2.4 GPa
Tensile strength (oy) 55-75 MPa
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There is no standard safety standard for Segway yet.

Centre of Gravity Shift
Assumption

Products that have already been released adhere to appropriate safety standards.
When the center of gravity is aligned with a person, Segway will be steady state.

The most vulnerable area is the neck of the product.

<

If we have better compliance or internal stresses in steady state,
we “can” say that the model meet the stability specification.

6

Trendelenburg

The most deformed area is the handler.
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« Wheels are eliminated and not modified

because they have a complicated effect on the behavior of the vehicle.

« Center of gravity is reflected the average height and weight of an adult male

» Allow loads to be reasonably distributed to handle and body
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< MOST ENERGY IS CONCENTRATED IN THE NECK.

% THE BODY ALSO HAS SOME CONCENTRATION POINTS.

% HOWEVER, WE DON’'T KNOW THE THINGS INSIDE,
THE WIRING AND ARRANGEMENT, ETC.
SO, WE CAN NOT TOUCH THE BODY SIZE.
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03 Simulation result

HOHETERM HkHERERM

Original model : 25.666 Km
==) Approximately 0.6 percent improvement!
Improvement model : 25.832 Km
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* There is an improvement in the travelable area, but the shape occupies a larger volume.

* Improvement models are also not beautiful in appearance.

* The section geometry had to be further refined and optimized.
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